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The first order condition (11)

Suppose the consumer has log preferences (this is the assumption in the later
section on calibration anyway):Z T
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where c is consumption and ξ reflects the flow utility from attending school.
So the problem is to find a sequence of consumption levels along with an

optimal number of years of schooling:³
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where E (t) is an externality (taken as given by the individual; captures the
influence by teachers).
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FOC: Wrt consumption at any given point in time
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Optimal schooling (here I’m applying Leibnitz’ rule for differentiation of an
integral):
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schooling does not change the alternative costs associated with schooling). Mov-
ing on:
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which is the expression shown in the text of the paper.
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